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MATH TEST

60 Minutes—60 Questions

Directions: Solve each of the following problems, select the correct answer, and then fill in the corre-
sponding space on your answer sheet. '

Don't linger over problems that are too time-consuming. Do as many as you cal, then came back to
the others in the time you have remaining.

Calculator use is permitted, but some problems can best be solved without a calculator.

Note: Unless otherwise noted, all of the following should be assumed.

1. Ilustrative figures are 770t necessarily drawn to scale.

2. All geometric figures lie in a plane.

3. The term line indicates a straight line.

4. The term average indicates arithmetic mean.

1. The regular price for a certain bicycle is DO YOUR FIGURING HERE.
$125.00. If that price is reduced by 20%, 7@
what is the new price? er e D e CReqds &
= A, $100.00 .Ig \/0//(-—- ﬁei’ Vrd ZO O/D Vedﬂ(ﬁ'f-’ah %27\_/

B. $105.00

A C. $112.50 \/(%c are 0/\//7 Pﬁfuvj 59/‘9 &Z T
] 1; $120.00 /OhEF, 80 /0 oF 1245 0o éfa&q[,{ 5;;/00&9

$122.50

2. Ifx=-5, then 2x? - 6x+35=1 54{-5577@724 X MZ% —

B 15 :

j SI ;: L(—ws’)l"-ﬁ 4,(/-*5) + & Do as muck 4s
o 85F s _ ZWBCD) b 5 \<d/€¢£a’w/’/u§q
K. 135 5o L RO £ s 835-—- / 0@;%464(:’/’

3. Howmany distinct prime factors does the

number 36 have? B’i 777 £ IZ:;?T_’?’;? Fr 2 7':&/{/’

A 2

B. 3 21 Zp

C. 4 /\

D. 5

E. 6 ? 6/ [ GO ON TO THE NEXT PAGE>
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éYZL&’VA@f M/é 7%29//%7 e

Sk 07 EXTeror Anglis eqguals 3 60°

4. In the figure below, what is the value of x ? DO YOUR FIGURING HERE.

850 160°

S5 L) bO X = 360
XK o= K

Zf Fee Aofn? Knons 7%5, yﬂ/"ﬁf conty

Q)

E 105
> G 115 Ao tse S Lepp S tnenTed /c}mj’/ﬁf’:{ e
i ;3;55» 1882 ;ar Trrang e, B5HGS /b
J. 4 ] 2 2
k250 60420 = Jgo JBO—(P5+20)= 4S° 4E 1 x=/BO
5 Whatisﬂleaverageof%and%? A MZ}’@/, ;;’VW@/&. > S« z# i‘e}'ms
/} i 21% / ‘ Namber o7- ?f'ff'ms—_
B — _L >
56,;/? A == T 5 _ Zp —,L; = "%o g -
- C. = = —_— = = _
Reversé 7 2 = j,/‘?: /2L 2y @
D e
iﬁvﬁ?"/f;ﬁﬁ L = = _ _L L _ borYo oo _ I
Meﬂ’f?e?ff’ 6 =+ = = Yo b zepp — 2o | Z2Y

6. The toll for driving a segment of a certain . e
freeway is $1.50 plus 25 cents for each mile /4 Y2 f%ﬁ{gﬁ s / /%72 5
traveled. Joy paid a $25.00 toll for driving a

segment of the freeway. How many miles did ‘4‘/!9 ;,r;/( é ﬁﬂ é", t{ o/, lﬁ} ﬁ’/ﬁé }Qﬂﬂ-}af ? b;f J;;ZL

she travel? s

H v on Subtract 9160 gy #2500 MHew
o dhide by 425

—>n #2350 -
;. 133 Wir ' 4726 ? 4/

Vst Fules of Exponent < MK PHAG
C- B a8 La¥ EC: ba'+c MOI‘/OMIJ‘?'LS

12. i:xi | GO ON TO THE NEXT PAGE>
. % o S, 3 !
Bt Byty Ex® o 3R L T e x |
ol Can ¢y a _ 2 +3 =
! E24 =B x"T =[5y

pro blewm ) ke .‘é"fi;ﬁ
all i~ li@f{f he -
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Dr’SﬁA/Cé Jakmw/a, \/(Vz.“" y-@L {)2.
/34565/ 244 P/%f(, OV Ea " )zﬁégrg,%

8. How many units apart are the points _ DO YOUR FIGURING HERE,
P (— —2) and Q (2 2) in the standard (x, ¥)

Y R el
' /(4] # & =Vz5 =5

Tt MY be cusiceo 78 Lee a)f"é&u&aﬁ-—
2, erqA?““ﬁ}M /&

Ut

H.
—p 1
K.

=2}

9. Inagroup of 25 students, 16 are female. What 9 /
percentage of the group is female? / EF K oy f. Q 2z ; 7 ? I, 7:‘ M

D s b _ibxd 64
R A 7
B 75% (y_/) —}é 25 = )l = 767'25’“,_49-{/.-

10. For how many integer values of x will — 7 be F/?ﬁtf/ﬂﬂ/j Q/V/f vy 7/J £l

1 1.
greater than — and less than — y A Z 4. . 3
]75 : 4 3 TN &7 = A 7 ..2/\/[/ «:ﬁ)ﬁ

E :
/" G 7 2 / r—"’; 7 o e

H 12 ~ T = =73 Hew manty /4 AP
J. 28 o "'; :; . — ii-..*‘i T ISEEAS ;_‘ :,," _,"},,'EH.,,-","‘ |
K Ifimitelymany 7 7 AS b
11. Which of the following is a polynomial factor = - S
f 6x% — 13x+ 62 L Jf/}( [ OF7 G LA 23t ASC
% x+ / L ‘ / - %/1 N
2%+ 3 y v ol ) . : 4
'y A y & 2 . § , s i '
.'%B. 3x"2 . e 44 bl & 7 ¥ st R \j V’V J‘\ ..
- 4 f-'-’ " \"’. - " . __;"ﬁ J > ) o i
B 2:: +2 %&/ he DCCluadg St 4z (+)
D_ X — ' v P - ..
6 +2 / / 2 “:{ '-. -’f’ r'“"‘". '~ 3.3 . :“"?‘H
x 4 { //l v L / ¢ .' f ""‘f‘? l:’ ,-r £ f’ N-' vy Y :' o
i 5. .15’/5.5 %
)/f % Where fore lHe arsie

7 : L [GO ON TO THE NEXT PAGE>

ﬁy é]’fj’/fl ’ :?Aj‘"'; D ansg See LihkeK
bov ks (b 2) dotsa? y.;.ygéa/ﬁfg
FO/L MW‘//OD Tv FEVERSE
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/?m/es of Fraclioms - %tb _a b _a+b

C & C el

5,,4/(;‘4: a // z}’?r{ deﬁ/&ﬁ?/}\fé}?"@@g K2y e /feg,(_;mé

2 3 4
12 What is the value of g 1f +—+—+—=57?
é 1 a a a a Ve a Can ﬂfﬁj{‘/

K. 50 O =

[ 2 ‘ ~
TRl wtEraigsb p 2o fozasf
] 12% ! + 24+ 34 l{ 3 S / /0 ;‘%‘”:2 Q :—2

13, In the figure below, AD, BE, and CF all
intersect at point G. If the measure of ZAGB is
40° and the measure of ZCGE is 105°, what is
the measure of ZAGF?

" Z-/’}/ﬂ&/
ANSWe "

D | F Fireston
Mark
A 35° & e,
S ﬂ/%arfecﬁ//\/g SN,
—sn e \/er’me a:\/g eS QW/ S&éfmr:fo/\/
E. 75°

14, Which of the follqwing is.the solution I N Léf; WA A - é £ S

statement for the inequality —3 < 4x — 5?7

é Z :j{z /?ex/ekjé SIga 04// / F |
/H. x<32 méﬁ/fﬁ(ﬁ/ﬁ/’ L fd/////'/’ﬂ

1

by b‘/ /Vé‘jﬁ:/ Sl Nl bey-

K. x<2 4

_g ' I}’)p //; .j': jf
=3¢ x-§& [ ZFEETES
7~ 4 5

2 44’}4 jZ_k’ ZSs f/f Sam ¢

Ly L/ — > 74,@ Gs 7(>":£:
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ﬂﬂ/ﬁ/é 5/585 Tors (Ouf 4/{(9/,4 n /4/f-
15. In the figure below, BD bisects ZABC. The g ' '

measure of ZABC is 100° and the measure of
ZBAD is 60°, What is the measure of ZBDC?

B

100°

\

Z ﬁ é e/ ANS tyes—
Lwith 7

Giet

D

A
B.
C.

——>D.

E.

D

80°

90°
100°
110°
120°

A .

50/804 70— J50 D | ;
Sapplerrensnl Argles = /fﬁaJ 7‘\‘5’(’;__..

7 = /Fo° | Wty = /
707L7,=; //0° ( @ ¥

-

16. If x+ 2y — 3 = xy, where x and y are positive, _5‘9/%/1/? %0}’ &A{/' y&rﬁ‘«’ff’?{/{/ﬁ-

then which of the following equations .
F expressesgj}:il; terms of x 7 ALP7 ?4'_@},, PDE 5;3"’;2: Y /g’;k j/ﬂ / w é S
E y= ) .
_/?G - y/hW f@’/ﬂf oF X /Wf"%/{/j _fﬂ/(/,',gyﬁraq‘
e |
= KRy =3 =Ry
T 2-x
x=2 .
F yz;g—?; Z;W’Xg_:: 3"”3( _
K. y= . " . o
X2 p — “‘2'/
17. Ina group of 50 students, 28 speak English %L (2 w-}{,) - % '
and 37 speak Spanish. If everyone in the group - g 2 = y
speaks at least one of the two languages, how ' (Z,, »jd) .
many speak both English and Spanish? 7 ‘ .
A. 11 . ~ - / 7 —
B. 12 Dis7r é‘\/’f/@ (5&9:?95 aF /30%//%’/%5%% 77/?6
C. 13 . . ;
D. 14 Group, + Group, + WNeither — Both = To7z/
E. I5

[ GO ON TO THE NEXT PAGE>

65—5p = X
/5 =X
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? 4 fff’ ,SZLMCé Kate 3¢ 77@&

18. A car travels 288 miles in 6 hours. At that rate, DO YOUR FIGURING HERE.
how many miles will it trave] in 8 hours?

botn 288 s o), P35y

H. 368

Lo 288 _ X . 288x8E
—PK B b nor TipAS b o] & |
) When%lswrltten asadecunal,“rhatisthe ‘§/ ﬁE/D &A 77/\./9 Déc:'mélj
100th digit after the decimal point? .
Do =0 34343(. .
B. 4
C 5 é;/‘e/‘/ 33/62(,’55 EAD ci\/;/"zlé»
—AD 6 4 /)/QCéS END LT L B
E. 7

(B Lo amw Eten pitsy brw S

20. What is the solution for x in the system of

equations below? SYsTéns g £ Faa 7o S
3x+4y=31 Siate A Maf ol
6 3x—dy=—1 M Neay é//’?f‘”ﬁg y

E 4 5&

—>G, 5 J— i
o i &% 7y = /)
L. 9 éjﬁ 3_0
K. 10 Y = S—-

21. Inthe standard (x, y) coordinate plane, points
Pand Q have coordinates (2, 3) and (12, -15), W/ / Pﬁ/ /!/7" ;;;’ MM &¢
respectively. What are the coordmates of the

midpoint of PQ? (/)é/ + 747,_ g_ ) f' g y I

‘ A. (6,-12) )
/ﬁ- B. (6,-9) 2
L C. (6,-6) P4 +/?_ 3 _,;,( /5;)
D. (7,-9)
/’?E‘ (7,-6)

C /1/ a 2_) @omomswmms>
(7,4)
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n
ﬂ@tb

T = 2

.
22, Inthe figure below, ZB is a right angle, and the DO YOUR FIGURING HERE.
measure of £C is 6. What is the value of cos 6? B . 7‘ ‘
. e /1 Gonwr? £y
AA)a c 277 _
3 _ iy
/épa%;va_fg £
BH . 8¢

T s
W [ GTU | U W | W

23, In the figure below, the circle centered at P is

tangent to the circle centered at Q. Point Q é / e ( Ur’7 jc-e./ff EAr a’ﬁ;ﬁ

is on the circumference of circle P. If the

circumference of circle P is 6 inches, what is d < 7;?/&/6 £ Qrolea o s f Jé
the circumference, in inches, of circle Q ? :
[ = L7

& 07L Cire J#- /D é
A é ZTr
CJF%MJWEM#

- =

3
—>rn g | 277’ Tl P
3 ot P p tangeit Ao K, o pactis

G
II;.. ;22 &7‘? CQ 2 77‘/! c& P [Go oNTo THE NEXTPAGE>
Z* _ Vaduws o3 Cirele &
/7" Simply Put, Siwrce

' | ﬂ/?d/’ V’J 7
(o @ =2m (%)= |l |Foraeras

CiRCmfereaces
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Funebons's /é//&/% aTins #loebraic FxpressionsC

W/mfe ver W See X SabsTiTutle AN — B
awvd Simp/) £y
24. I fix)=x~x* - x, what is the value of f=3)? DO YOUR FIGURING HERE.

é-——;; j: : (“3’> = (”3) = (-})
H. -21 —_—Z2F C? +—5'

J. =15

K o _ *34%3:*35-

25. Ifthelengths, in inches, of all three sides of a 7};/62_/\:9 /e /,Ve? m/,éy ﬁ&‘cﬂl 2177

triangle are integers, and one side is 7 inches
long, what is the least possible perimeter of the /A ¢ S ¢¢. m of a » 'f Zwo < /‘o/e S /B

triangle, in inches? >/ i
C 5 . @ltvays 9%6&67@%‘/ 3‘?’5;%
—in XS Xrg o7 I e arc ke
D. 21 jﬂ«;fc g er L9 /écf‘é:g, Zzé'-»ff 7%: /64,_57'
- / PoSSiblp S o Xt h 49 B Quo= I's
" 2t ST LACTD 1A S0/l o i S jiS/ s
j‘ E xx’+2) Fualy (2 + B 4—1?—) = I5 =P
G. x(x—2)(x+3)
Ho x(x—1)(x+2) ()( (‘2-"" 7() (’X -+ ’) =
——% . X(x+ D (x+2)
i(. x(x+;)(x+§} ’)(('X'/'/)(Yv’—z«)
27, If.?:zz; i);which of the following is equivalent %W < 0?' g - /pé? NONT S
\to(wfzz)z? 5 L, 5 Lf
O A X J ‘= 7(2'\// £
Y — -—
;= 22 2L e (2{'—
e (xy27)P gz
> C oy
D. =
ye
E. xyz

[ GO ON TO THE NEXT pAg>
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IRACTIONS AND DECI 272, S
2 I ! 2 .3
= v——m:ﬁe%w;ﬂ-;zw—f--mﬂ?é—

- | &~ | 2- o
DO YOUR FIGURING HERE
28, gsa(:::unal what 15‘2211 of and 461, M///f f{ﬁé’% // (’W{/@W’
# G. 05 é;é fV/([fﬂ/Vj /5/25,/;74/5 %A/ %/A/f
H. 0.75
— J. 0833 é%/% ZKS /w /W/’f ﬂ,g/ (’;w’;&z i A j
K. 0.875

29. The formula for converting a Fahrenheit P/ ' V / <
temperature reading to Celsius is %ﬁ/ /%- A %f W 2 }’ﬂ?@/d,,
C= E(F 32), where Cis the reading in
degrees Celsius and F is the reading in degrees
Fahrenheit. Which of the following is the /- — 5 Z
b Fahrenheit equivalent to a reading of 95°
/) Celsius?

{ . | ,7*#-**/5 3z

Ry )9+ 32 = Fm 2027

E. 207°F

30. Ajar contains 4 green marbles, 5 red marbles, 5 . / /D é _ / %
and 11 white marbles, If one marble is chosen 4 /77/D oo rope s /Y y

at random, what is the probability that it will

. g_f, W\M ou Seek -
\/\ G * possi Mﬂ QPTDM - ‘Plf@éd,é;//f%
; ; / Tr he 59(,(:74_:— ‘
,,,.w;i grﬁen 4o ,.,f,__‘:'___ ;_,____L

—
; Total  HH5H Ko 5
| GO ON TO THE NEXT PAG§>

Glw
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A Verage = ———— =~ 7€Fms
J Num ber of ferms

31. What is the average of the expressions 2x + 5, DO YOUR FIGURING HERE,

5x -6, and —4x+2? / )
_» A. x—!—— (2)(-}’ S—)-!f g"}( d,./ (‘y{‘/'){ +2Z
B. x+ 1 —_—
C. 3x+ g ;-
A D. 343 B 4/ /
’ 1 ———— — m—.

E. 3x+ 35 3 B % %f ‘3

32. The line that passes through the points (1, 1) - - - o
and (2, 16) in the standard (x, y) coordinate 5/0/765 0} /% jfg_//e / ///l/és
plane is parallel to the line that passes through

F the points (10, ~5) and (a, 25). What is the L F € 6_7&((,/
value of a?
S =l 25 -(-5)
o s 27 =15 - 15 =—F7 = (-/0) 2
H 5 R i 20 a+)o=
L =

L i SET“p udTon 522575 a=-g

K. 20 A/%S@/Jé /5 Sofie ‘/a)r cL

33. In the figure below, QS and P1 PTare parallel, / ] .
and the lengths of QR and PQ, in units, @ ra / / -4 4’ NE S /Wi
are as marked. If the perimeter of AQRS is
11 units, how many units long is the perimeter Z- W/ €5 €Cr @Qﬂ’ s, Aﬂl ;/'
of APRT ?

ff’?% /&S
AQrS avd A PRT are Simi b~
Rrimeters are ow 742 Samé
/P/v /»;»77&% as the Siofec

Siwte Sive RR =3 awy Sioe PR = 7

A 22

_—>B. 33 APRT /& S Lmes as éﬂi’j’é as AQ/?__S
C. 66
Do /%3 =33

[[GO ON 0 THE NEXT PAGE>
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s fy/ﬁ/ﬁ Pﬂ/} GoNS
/%/y GoN /S A C/oSES 7%/»9/’5, M A//%

34. The figure shown below belongs in which of DO YOUR FIGURING HERE. {7‘ . &
the following classifications? 'ﬁ‘}!ﬁ N7 / NE S

I So s eack C/w&;ﬂ any/

c‘fmm/ﬁ/?? Z’%’gﬁé 2 V€
T oz | St are

—

I. Polygon < >/ &< : '
II. Quadrilateral &= %-‘f' @“‘zf/{ “1d 7/5)%57" 5/.5/5'// /Do/ng,v

WL, Rectangle €——— VD, Rec7hav/r s a gaad tTF <L '
IV. Trapezoid &——— £S . .

/< £ Loty y ﬁ"/?t’—z.ﬂxg/ /5 & 744% A//%
G. Tonly ONy ONE 7 Dgra e/ finis

H. IV only
~J: 1,11, and III only
—— > K. LI, and IV only

7"

35. If one soluti h ion 2x2 + (a — 4) . N
Honesshuion o hesquion 2068 Su b st buTé K= =3 amf
Sotvt for “ - |

A0 -

B. 2 Z P _ -2_63_“:—'0
P o Lﬁg)iéi-fﬁlé..mﬂ

E 12 /8 — B +/2. —20 =&

— 4 G = "'“3'@

36. A menu offers 4 choices for the first course, Vor B é
5 choices for the second course, and 3 choices

for dessert, How many different meals,

consisting of a first course, a second course, (ig Y. é iy ﬁﬂ,y-g

!A :.ld a.1 ;[essert, can one choose from this menu? M W,/a "7 4 // C’ /j e é"' g
-5 Ly 5%3 = |y

.36
J ['GO ON TO THE NEXT PAGE>
—Pp K. 60
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/ /ﬁ/Mf {;"] ﬁ/f 271 £ /”/kfj}@% § pasT oné 2 2nd Tivp

! 391

37. 1If fn integer is divisible by 6 and by 9 then” DO YOUR FIGURING HERE. 275
the integer must be divisible by which of the é Q . .
following? ; -'hq S 37—
L 12—>Np /N 3{\} Fecthrivadn—
@ IL 18—>ves 32 -
;H' fzmy N0 /L 40 WMol Givisib/e éy 7
s> B, Ilonly /5 /5 ol i/f'Sf'é/c? by é 4/1/2"/ ?/

C. TandIl only /5 Ve %WS/A//_ 27 é (/M/Q

D. LII, and III

o  but b Lat Asihp

2 G
38. Foraﬂx:fo,i”—z-'—x—=? L é Zé
* /

F E 3 ' :
/G_ 3x %L ¢ 2 v 5 _—

H,- % il - _ B
ho 4 = 7 i //'/""/—'—-“ S
K.

39. Joan has g quarters, d dimes, # nickels, and

b wilepolel it o My JuesTions
L Ashed iy bint
A A AL ote) s 2
B aitoans (NS, MZ L Varss
of 14 oS

g7+l = Total # 7 wws | -

| GO ON TO THE NEXT PAG£>
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; / /
-50// éfféz w{;fg’/ 7@’/” ,_2 o A
OPEN Dpt USerf Sfoim > o £
40. Which graph below represents the solutions for DO YOUR FIGURING HERE.

x of the inequality 5x — 2(1 —x) 2 4(x+ 1) ¢ 5/‘”7/0% ' //{/E/;/g/zzy ,//,‘ y
B 3T B 2=y s \
; < X) = ot/ )

R AT R EE N 7
-3-2- . > é
—-4-3-2-10123+4 37< >é
T N

— K Attt
: 4-3-2-10123 4

41. In the standard (x, y) coordinate plane, line Sé /9 e 5 &; /Pe /‘ /f/t/'% s %? P

m is perpendicular to the line containing the
points (5, 6) and (6, 10). What is the slope of

line m? //z/é’g ﬁ/"g c%/w‘;}f:?

]}. A —4

S
g. 5 Ax é’"g_ ——‘_—7—_&

CFL0S i’ /@c/‘/) rocal

cﬂ_%%ﬁﬁ/

L

L H

[ GO ON TO THE NEXT FAGE>
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42. In the right triangle below, sin 0 = ? DO YOUR FIGURING HERE.

w SO = oot

121n _
4 //poz‘@,w £ &
Sin ?
g 2 N
- . / >—
/_,_/ﬁ P 5 |
. Ma /¢ 5/(5{-5 Egusl

x 2 723" sabsridute G wity 3%

43. If9%%1 = 3543 thep =2 2 2% - | Elo 2oy W
o (3 - 3

3+ 3 Now %4/

4 —_Hu =2 ’
ool 3 = 2 biSes are B
D. 2 s = B 3 | 551; = € Xz
E. 5 wa) g :
m—— =g 7 2 4 x””/ S/

44. From 1970 through 1980, the population of

P i 7
City Q increased by 20%. From 1980 through %éc. Can Z/ S s C(cf'/ af;/ ﬁ;’ '
1990, the population increased by 30%. What o REHSES, Y& e Nee 4/ 'fZO

;v::; ;}éelgz%ﬂ_nix;gcé ?percent increase for the Are J %’7 %9”4/ Q< Sc?ﬁﬁff' | 5

F. 25% SNVEREA SES. ,

G. 26% ) !

H. 36% e égzﬂ/‘/f"'f 41/&2%5% /%7%/

L 50% :

K. 56% ((}{) (/Z A Zl poc /5% New 4 = ahj;w}/,.# +

20 % of wvy)mt#

Y becomésS G645 Zﬁﬁﬁ‘?@
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/ verugt o/ o ?V///_r@ M5 i

Swrn pptotel Score &F all

45. Martin’s average score after 4 tests is 89. What ; ¥ : :
Fowur tests As {/9(5? - 354

score on the 5th test would bring Martin’s

B.

G
D.

—> E.

average up to exactly 90?

E &

354 + X=90

90

91 ;

92 \:f;‘ 235:5'55 o = “é?ff;ZZ)
: %= 9y

46. ‘Which of the following is an equation for E?Wffé?/’) ) 7£ C/rele J[;, i lo.
the circle in the standard (x, y) coordinate .

plane that has its center at (—1, —1) and passes (%__‘,/;)2_ 4 (\/ —é)l_: ]{"L //’I,é),m_

through the point (7, 5)?

BoGoiteg-mi=0 L)) k(=) Center iéj/?fils
k AR A o Dibferewce betuteen
I GmDPe-17=100 K O0OK)raTES 1S B Ganf 44z
—>K GO0 L)1 8 } D erence ée/‘;/eeh V Coo ) Anasfex
47. Which of the following is an equation for the o ( & — /.. /)) = é L2 TRt < a

graph in the standard (x, y) coordinate plane

below? b 86 FIGET THang le (i 7E = /0

4 \ :MX""é 24 NJow Adoi7 See s ac Qé 8/

rifz 4, lpve Lol Usl: L Tonme b
g P8 B Yol pis ol

| b= YRTeRCGPT

lllll x

[P g o
\

+———
5-4-3-241

o0 12345
-2+
34

Lite (Rosses Vers @ V-2 %

54

y=-2x+1 A:Zé 5/O/Dé_ ‘:&9—-— S ..é_.
e o=() " T4
i M-2

/D:Z S%Sfféd? //,,,ﬁ—fg \/J)‘Mfé
N =2x+/
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Rervent of " = X |
1 ;
é 48, I:Vha;-lzoi/ooflﬁ. / @ 25'/ 0 @5)2\5“

‘ -92 o st ca/m/efa/f/f W/f/f/// ﬁﬂﬁZé’éy/é
I Ansuer qutsTon askes Moy ¥ auf 5
K. 64

49, jliorﬁs_,;si42)((]s=4)+(25+2)(s 2y=3 M%/f/d/y//@ A/WMA;A; ;ﬂq/[_.

B, 3%~ 12 2 52 /49 + L & 2 y

_'f,,,;. C. 32-25-20 g Sl A D '—“25 o s s B
D. 352+ 25—20 :
E. 5¢2-25-20 = s - 2¢ —20

50. Which of the following is an equation of the

e el phed nthe () coordinate [ 447 Fony Fos yZ pobofr.
k =K H+bX +C
| Mpore %fé/;,,/ eg?zgafax//g
F N \ 1 /]qx Fx) = a(~-4)* 1 b
\ji/ Whepe ﬂ,é) Ao erTex oF
PONT 07 zwfleFos
g o2 Ke/ffex A %5 /Dakﬁép/d,«m
: J’=x323_3 ( 0, ’5) o
- ”ﬁi” %, 62,(”&4—0) +/’Zl) “
e =A% fuga by
i ST g % a5l e
;7/“7 DoITS ON Prrblpde| (- Q(_’g)
e 4”,%/& Choyces dmf 3=%9
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Sp HeAH ﬁA ensy

77%/@/%7' 7y

51. In the figure below, sin a—4 What is cos b ? 5/4/ = S p}:»;b&ﬁz?‘:/— ,'/
/pp,’?»mﬂ_gé» A=
Cl \D ;3 (l' fT A,_'j& ééazqsfi
] b /fR L Eié{g"
A, % | £ /j/{' -z‘:'/-m/vj/}.
3
B. 5 ,
s C&S é = A’/L//Mgﬂf 3 4/
5 ' —
b % h%ppféxv’ééf & 5‘ |
» 4

2. Roralreo, T < SimpdtymG Glgebrail FracTions

. —&F 3x
6. # KXY 3,2 e
H - :
F ] X P4 3 X
K. 22 +x

53. One can determine a student’s score Son a 7‘/
certain test by dividing the number of wrong FRA A9 / a7 /;V 740 M
answers (w) by 4 and subtracting the result
@ from the number of right answers (r). This ‘é{g/ (ig 4 70 4 /jf ;é/’ A

relation is expressed by which of the following

o Whess /m avile by éy // L

4

— 7B S=r-y Equals /—- A//m/ W“ 5@/5/7%&7

&, Bulooy
4

. % %&W( i’ gwt {/e'/' !f-—-—,/-
S=r- —;7‘
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Vo fuﬂ/}é o] fy/m/ﬁ - 7)724

54. What is the volume, in cubic inches, of the
cylinder shown in the figure below?

=Tr)s 5
_ Bo7

j E  20m

5 inches

G. 40n
H. 60n
———,-’9 J. 80m
K. 100w

55. In the figure below, AB is perpendicular to

BC. Thelengths of ABand BC, in inches, are % f/// d/l/f /f—-— '
rea

given in terms of x. Which of the following

represents the area of AABC, in square inches,

forall x>1? | éyM//; déf_éf_

C Z.
E Y g Lse ant/ Aﬁ,»g/ A Mfz.
Vg /‘ﬂ/ 7 z"%”xézﬁg?/x are z’/g

m oo >

g‘“‘ 7;‘9%@ % /ys"; et ¢ 5?:;’; -« //

- C gt e b €
wr Soware s
:’f e ..;.-s‘;/cf‘ & et
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Begapning St 7“/ A// 0
7] 2 w13 7,60
/ ??0 . M =/% 4 / g@y %fgfw&/
56. In 1990, the population of Town A was 9,400 DO YOUR FIGURING HERE. é&/g]g&/ W

and the population of Town B was 7,600. Since 7
e then, each year, the population of Town A has PR @M/@/
é decreased by 100, and the population of Town ;”V o OVF 7‘; bers
B has increased by 100. Assuming that in each
(4
case the rate continues, in what vear will the [4{‘"&(@4; e /ﬁﬂ /M Zd" OTlsr tpm Creafel
two populations be equal? éy._‘ /ﬂf’ é/ ;e ﬁ/%@i’&v% ..
E 1998 Pc,f/ %'4,’,'

——= G. 1999

H. 2000 Totnt = Pex .. F éa-,r‘- ,L,f Wi T é

J. 2008 A « S et -
K. 2009 ;Mﬁ{ , Utrey MMTIe Toours ape < jw/z/ﬂ
bec - Zey = 9 Je7rs
57. Inacertain club, the average age of the male
members is 35 and the average age of the
female members is 25. If 20% of the members
are male, what is the average age of all the club
members? .
" L/ eritrn M sae
—5sB. 27 : U

C. 28

: W 20 2 onbers are snle, Sy
/Md? 5 4&yge /Ma/& M/ ?ﬂzf
S e Strrr e,

e & S Mg bey 557

gl (i) + M/ k) bty
T27H- Wesr e g I

() 4%744@’5
| GO ON TO THE NEXT PAGE
@) + 29 (7 X s

§' : -27
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58. To determine the height /1 of a tree, Roger DO YOUR FIGURING HERE. Ecréptt
stands b feet from the base ot the tree and
measures the angle of elevation to be 8, as /{/@ % é) 2l M
shown in the figure below. Which of the
following relates hand b7 W{/ M W
? 4
;/f ’;?\ . = 4 el
Fila oY /;— 5//\/ — —
/ A)//V/T‘;vag/— /J R é) .
) 5 2 .
Sl N & T & =
E:
- E_m R N A 6 72"’ 7 Cog &
/
- #) This i Cos &
F sinf= b Z%
7
] _ e ppoS’
G. sine=b j') C&V/’M - 0
B, ' Z /ﬂow
H sinf= ———
’ Vb2 + R
h
—== J. sinB= bz ==
/__
K. sinf= \'l +h~
b )
59.

The formula for the lateral surface area Sof a Zc // ; Z
right circular cone is S =7nrvre + k2 , where ris C'// #eZ
the radius of the base and # is the altitude. What is ?/

the lateral surface area, in square feet, of a right “‘?’ W CAQ?/
circular cone with base radius 3 feet and altitude

4 feet? J“m//‘JkL+/]L .
A 35 =

5 s VT
C. 15m = 7 ; (3) 3 7+ Y

D, 2w

. 75w & 3 ‘/_?

I . 7)7 g

/S 7

[ GO ON TO THE NEXT PAGE>



%

PART FOUR: PRACTICE AND EXPLANATIONS

400 oRACTICE TEST TWO __—
N / R
///t//é/ei/ Loyps any  S1enE S LS
60. In the figure below, line r crosses parallel lines DO YOUR FIGURING HERE.
ntand n. Which of the following statements :
must be true?
a’ b —
. i m ﬁ 4{1—-‘-—‘ %
eo }m
ho gr n (5 %R (‘ @
E a=b
G, a=d C _
IL b=e - ?
. g
K d=yp

I OU,

THISISFGH




